
Combine the like terms

     𝑥 + 𝑥 = 2𝑥

  𝑥 + 2𝑥 =

𝑎 + 4𝑎 =

3𝑥 − 2𝑥 =

2𝑎 − 2𝑎 = 

𝑥 + 2 =

2 + 𝑥 + 3 =

𝑥 + 5

3 + 𝑥 + 6 =

2 − 𝑥 − 3 =

Circle, square, or cloud, then combine like terms in ascending degree order. 

𝑥ଶ + 𝑥ଶ =

2𝑥ଶ − 𝑥ଶ =

2𝑦ଶ + 3𝑦ଶ = 

𝑥ଶ − 𝑥 =

𝑥ଶ + 2𝑥ଶ =

−5𝑤ଶ − 2𝑤ଶ =

−5𝑚 − 2𝑚 =

    2𝑥𝑦 − 𝑥𝑦 =

           𝑥 + 1 =

        𝑛 + 3𝑛 =

      6𝑎 − 7𝑎 =

      𝑎𝑏 + 𝑏𝑎 =

4𝑥ଶ + 3𝑥 + 2𝑥 =

2𝑥 + 1 − 3𝑥 =

𝑥ଶ + 𝑥 + 2

3𝑛 + 𝑛 − 2𝑛 =

4 − 2 − 𝑥ଶ =

𝑛 − 4 + 2 =

3𝑥 + 𝑥ଶ + 2𝑥 + 2𝑥ଶ =

3𝑥ଶ + 5𝑥

5𝑥 − 2 + 𝑥 − 3 =

3𝑥 − 3 − 𝑥 + 5 =

𝑦 + 2𝑦 + 3 + 5 + 𝑦 =

−3𝑥ଶ − 4𝑥 + 𝑥ଶ − 2𝑥 + 4 =

3𝑥ଶ + 2𝑥 + 2 + 3𝑥 + 5 + 𝑥ଶ =
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